QUIZ5 

Question I: Choose the correct answer.)

1- Which of the following is true:
A. Decrease particle size will increase the rate of dissolution
B. Increase the temperature will always increase solubility

C. The extent of agitation does not affect the rate of dissolution

D. All of the above 
2- Which of the following cations is water soluble:

A. Calcium Ca ++
B. magnesium  Mg ++
C. potassium K +  



D. barium Ba ++
3- The most important type of solution in pharmacy is:
A. Solid – in – gas solution              

B. Solid in solid solution
C. Liquid in gas                                

D. Solid in liquid
4- Syrups is prepared by:

A. Solution with heat                     

B. With agitation

C. By percolation                           

D. All of the above
5- Water is the most useful solvent for oral preparations because:

A. It is generally available     

B. Relatively inexpensive
C. Non toxic                           

D. All of the above
6- Water and alcohol are an example for:
A. Miscible liquids               

B. Immiscible
C. Partial miscible                

D. All of the above
 7- Which of the following is true regarding the Critical Solution Temperature (CST) of two liquids:
A. The CST for water - phenol is 66° C
B. The CST for water - triethanolamine is 18.5 ° C

C. Adding of third substance will affect CST



D. All of the above
8- Lotions can be used for:
A. External use only                 

B. Internal use only

C. Internal and external use     

D. All of the above
9- Liniments are:

A. Solid preparation
B. Should not contain preservative
C. Applied to unbroken skin with friction

D. All of the above
10- Solution that is intended for external use includes:

A. Oral solution       

B. Syrup          

C. Elixir           

D. Liniment
11- Regarding Liniments: 

A. Alcoholic liniments are useful when penetrating action is desired
B. Oil liniments are useful when massage is required

C. Emulsion liniments must be shaken vigorously before use

D. All of the above
 12- ( h.s ) abbreviation means:

A. Immediately        

B. At bed time       

C. Fluid       

D. When required
13- Liniments can be used for:
A. External use only                 

B. Internal use only
C. Internal and external use     

D. All of the above
(14) Examples of drugs that are weak acids are:

(A) barbiturates

(B) sulphonamide

(C) Morphine

(D) A+B
(15) Monovalent cations are …………..

        (A) Water soluble

(B) Water insoluble

(C)  Such as Na+, K+, NH4+

(D)  A + C
(16) The solution prepared by extraction known as:

(A) Decoctions

(B) Infusion

(C) Tinctures

(D)All of the above
(17)The abbreviation of pessaries is:

(A)Tab.

(B)supp

(C)pess

(D)Tr.

(18)DCC equal :

(A)500

(B)600

(C)700

(D)800
(19)………….. used for dilute solution

(A)% W/V

(B)%V/V

(C)%W/W

(D)PPM
(20)……….Served as solvent for oleaginous ( fat-like )compound.

(A)Fixed oils

(B)Water

(C)Acetone

(D)Non of the above
(21)Syrup have the following characters:

(A)Liquid preparation

(B)Concentrated preparation of sugar 

(C)Serve as sweet vehicle

(D)All the above
(22)Water & Alcohol is ……… liquid :

(A)Miscible

(B)Immiscible

(C)Partial miscible

(D)Non of the above

(23)Simple mixture contain ………..

(A)Water soluble solid

(B)Diffusible solid

(C)In diffusible solid 

(D)Non of the above
(24)Simple lotion has the following ………..

(A)Liquid substance

(B)Immiscible in dispersion medium

(C)As Benzyl benzoate lotion USP

(D)All of the above
(25)Weak acids (drugs) dissolve in:

(A)Dilute solution of acids

(B)Dilute solution of alkali

(C)High temperature

(D)Non of the above
(26) (CST ) is ………….

           (A) Capsule

           (B) Critical solution temperature
           (C) Lotion

            (D) Non of the above
(27) Calamine lotion consists from ……..

            (A) Zinc oxide

            (B) Calamine

            (C) Suspended in water by glycerin

            (D) All of the above
(28) ………….. Are types of liniment

            (A) Alcoholic 

            (B) Oil

            (C) Emulsion

            (D) All of the above
(29)  On Stirring (shaking)  the solubility  will 
            (A) Increase

           (B)  Decrease

           (C) Has no effect

           (D) Non of the above
30…………..are partial miscible :

(A) Water; phenol

(B) Ether  ; water 

(C) Alcohol ; water 

(D) A & B
31.Mixtures have the following properties: 
a-Liquid preparation

b-Contain suspended material

c-Used orally

d-All the above
32Potassium iodide is used in the preparation of strong iodine solution as:

a-Suspending agent

b-Solubilizing agent 

c-Coloring agent

d-All the above

33.Benzyl benzoate lotion has the following properties :  

a-Topically to the skin

b-For treatment of scabies

c-Water washable ; non – staining 

d-All the above
34.Drops are: 

a-Liquid preparation

b-Instilled into ear ; eye ; nose with dropper

c-Applied to unbroken skin

d-A & B
35.Examples of miscible liquids are:

(A) Water & Ether

(B) Water & Oil

(C) Water & Alcohol

(D) Water & Phenol
36.Immiscible liquids are 2 liquids when mixed together, they form:

a-One Layer

b-Two Layers
c-Three layers

d-None of the above
37.Decrease of viscosity of liquid phase lead to:

a-Decrease solubility

b-Increase solubility

c-Increase pH

d-Decrease pH
38.Increase of surface area lead to:

a-Increase solubility

b-Decrease solubility

c-Increase pressure

d-All the above
39.All of them are examples of solvents used for oral preparations except:

a-Glycerin

b-Propylene glycol

c-Simple syrup

d-Acetone
40.Linctuses are:

a-Viscous liquid preparation  

b-Used orally

c-Used for cough relief

d-All of the above

41.Purified water has the following:

a-Prepared by distillation

b-Used for parenteral preparations

c-Used for pharmaceutical product

d-A & C
42.Potable water may be unsuitable for:

a-Internal pharmaceutical preparation

b-External pharmaceutical preparation

c-Parenteral purposes 

d-Non of the above

43.Potable water is:

a-Drinking water

b-Freshly drawn from the main supply

c-Prepared by deionization 

d-A & B
44.The rate of dissolution dc/dt equal :

a-KS(Cs-C)

b-(Cs-C)

c-KS

d-Non of the above
45.Ear drops are all of them except :

a-Simple solutions

b-Applied to the eye

c-Give local effect 

d-Soften wax; treat local inflammation
46.Glycerol (glycerin ) is:

a-Suspending agent

b-Gelling agent

c-Emulsifier

d-None of the above
47.An example of solutions prepared by extraction is:

a-Strong iodine solution

b-Magnesium citrate solution

c-Sodium chloride solution

d-Belladonna extract USP
48.Paint is applied to …….. with brush :

a-Mouth

b-Skin

c-Rectum

d-Nose

49.Non-Polar drugs can easily dissolve in:

a-Polar solvents

b-Water

c-Non-polar solvents

d -A & B
50.All of them are weak bases except :

a-Morphine

b-Sulfonamides

c-Atropine

d-Cocaine
51.Weak bases (drugs) dissolve in:

a- Dilute solution of acids

b-Dilute solution of alkali

c-Low PH

d- A + C

52.Positive heat of solution :

a-Rise in temperature increase in solubility

b-Rise in temperature decrease solubility

c-Decrease in temperature increase solubility 

d-None of the above
53.The correction for solid had insolubility remained precipitated even after shaking:

a-Increase viscosity of the vehicle

b-Adding suspending agent

c- Color the solution

d- A + B

